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HTET PGT (PHYSICS)

(3) ' A
[T — I/PART - I

919 {9/ @ s/ CHILD DEVELOPMENT AND PEDAGOGY

Fasr : =R godf & gav 37 & g aad Directions : Answer the following questions
araT Re gﬁt’ : by selecting the most appropriate option :
1. a9 e =g & ofeq @ ST HA 1. Present day education cuts off the
2 i man from life because
(1) 98 SHE & T 901 78 & (1) it is not an integral part of life
(2) I8 AT #H - AN F aremed (2) it is unable to provide bread and
2 butter to man
(3) 7% A B AHY 3 ¥ owmd & (3) it is unable to provide job to man
(4) 78 R B qEAT oTaEEdST A (4) it is unable to fulfill the basic
‘lﬁ TE Hl 7 needs of a man
2. R @t ongfe decaT $ OgER, © 2. According to modern concept of
HHE H e ’jﬁ?ﬁl T =R teaching, teacher should play mainly
~ theroleofa
(1) asiFes @t (1) Philosopher
(2) B &t (2) Friend
(8) FrETEIrl # . ~ (8) Working partner
(4) @ﬂ%‘ﬂ?ﬁ B (4) Instructor
3. W Ry W wiys w@ MY . 3. Which source will provide maximum
o fohe &g 8 o o R 7 ‘ and up-to-date information about a
subject ? .
(1) s _ : (1) Encyclopaedias
(2) T ~ (2) Internet
(3) ST SrbTeiE Qi (3) Latest academic journals
(4) FUST g (4) International conferences
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4. I B F P BE W AM A 4
zT T B MY IET AT U BiEd
H B (A0 HA-H U BT 7

(1) Bt ot Bear sar

(2) ST 2 F C Peyw B T A

(3) T=di @ @F T & Qe
(4) FAT & Gd B [T WA

5. O STEHGE U AN HE-he B uael e
A 34 ard B AR

(1) Frener sad & a0 o

(2) Taemem & vervengE & A
(3) TRAGEE F AR H

(4) oA wd BRI B XA

6. WA TR 2T e e faen @ genel

(1) g e goned
(2) SAEETE T IOt
(3) arel died e JoTa

(4) EEIHr (e yomat
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Some students of your class have
become inattentive; which strategy

would you use to regain their attention ?
(1) A brief physical activity
the for

(2) Suspending class

sometime
(3) Asking children to be attentive
(4) Sending the class out for games

When a teacher enters in the class
room for the first time he should talk

about

(1) school building
(2) school headmaster
(3) textbook

(4) himself and students

The education system developed by
Mahatma Gandhi is known as

(1) Basic education system
(2) Vocational education system
(3) Child centred education system

(4) Handicraft education system
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(5)

AHNE F HH-A1 HY e

AT A T Wog 75w 7

(1) =7 %l G P 9 3
2 aaﬁa?rzaﬁmammarém

(3) S=A & Y =l P ST B
Lol

(4) ==t @t g s9ET
ﬁfﬂﬁﬁaﬁﬂ-mmsﬁa‘swaﬂw
787 B ?

(1) Srofet et srimg

(2) STEATYH P YRAYCT FGET

(3) Sga i 8 Hd

(4) Sgq i gfedr

S HEUE UH B H ABel R

FEAE HAW B Ol g5 ST & @l
g 2

(1) T & 7 &

(2) a9gr| % Maq @

(3) wE B g &

(4) ARG TR & e

TpRAE & AR R w0 dw @
EUEY ‘

(1) oTeATg

(2) A

(3) WETHH

(4) I 7 | g T
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A

Which of the following acts of the
teacher does not help in creating
proper learning environment ?

with

(1) Providing the children
feeling of security

(2) Giving the children sense of
freedom

(3) Allowing children to criticize
other children

(4) Making children fearless

Which of the following is not the
cause of truancy of students ?

(1) Uninteresting school programme
(2) Teacher’s partial behaviour

(3) - Too much home work

(4) Too many holidays

When a teacher gives the learner the
sense of success, he is using

(1) the law of readiness
(2) the law of practice
(8) the law of effect

(4) the law of mental set

According to Naturalism, the centre of
education should be

(1) Teacher

(2) Child

(3) Curriculum

(4) None of the above

P.T.O.
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e Fe % @ el 7 g awd @
SMEd B MY IGH WA B TR
F 7 |

(1) g 7 d & [ w2

) I g &4

(3) TEE IYeM FHA

(4) 3 Rgag ¥ & ud wEd &8

q%mmaaﬁa%ﬁrm%maé%
EeE g

(1) G & SER W qE S
) el e &

(3) FAHH H TG T

(4) Rfire el @1 e B

wdy Rren i, 1986 % orgET R
W Ry W U S %r afra
BT e
(1) 6% (2) 10%

(3) 4% (4) 3%
T NUEE HTEN e B R s

,mwm@ﬁﬁmmmﬁﬁ

mﬁlwaw%mﬁaﬂqﬁw
ofafear 8l 7

(1) ufae HE AT P T8 Al

(2) Pl & gAER # amE H

(3) P @ wE B 3 wd darh

(1) 5§ A e B W § AR S
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A student of your class is in the habil
of telling a lie. How would you deal
with him ?

(1)
(2)
(3)
(4)

tell him not to tell a lie

punish him

just ignore him

will take him into confidence and

counsel

The best provision for the education of
the talented children is

(1) Ability grouping
(2) Giving double promotion
(3) Enriching programme

(4) Providing special schools

As per National Policy on Education,
1986 percentage of national production
must be invested on education

(1) 6% (2) 10%

(3) 4% (4) 3%

School administration assigned you
some extra classes which are meant
for weak students. What will be your
reaction as a teacher ?

(1)
(2)

Protest and not take classes

Request reconsideration of’
decision

(3) Tell student to prepare on their

own

Accept it as your responsibility

(4)



15,

16.

17,

www.makemyexam.in

FEH B TSR B wY T e o
% AR § e s @ ot

A. wwmﬁﬁ%@m&m
e 2

B. Renffdl # smdeeres gfe @
e & o e w0 g 7w o

THEqe yoTt 2 |
M q B BT et ¥ 7

(1) Bad A (2) %ad B

(3) AT BT (4) FATB

-fﬁrmwﬁwqm?r@gﬁﬁrwﬁ

(1) Sl & G FHAT =Ry

@) BR N AR T AR FEN

BHENY
(8) 99M-YT H W% FHIET AfRT

(4) BE # gU W@ B R FE i

ﬁrwaﬂﬁwmaﬁﬁsﬁﬁw
am%m%aaa%‘iva?%a‘rem

(1) B3O 7Y Bl 3 T GO HHOT
gE B A

(2) BE & A & Tt g ok @
3t P 37

(3) BEN & IE9 =417 ey 33y

(4) BE # e Ry
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A

15.  Study the following statements about

lecturing as a method of teaching :

A. Tt is an efficient method of giving

information,

B. It is an efficient way of making
students think critically.

Which

of theée statements is/are
correct ?
(1) Aonly (2) Bonly

(3) Both A &B (4) Neither A nor B
Before starting to teach a teacher
must

(1) make the students stand

(2) make
ready

the students mentally

(3)
(4)

clean the black board

ask the students to keep silence

While teaching if you realize that

what you have taught is not correct,

you would

(1) leave the topic unfinished and
shift to another

(2) tell the students that it was a

mistake and correct it

(3) divert the attention of the
v students ‘
(4) Scold students

P.T.O.
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WWW.TITaReTTyeXanTir

T Wl § Rer B owsg e H

arEsl T BT Ul O & OTENE &

wq A S gEH P oFr w7

(1) 399 FE0 & g0g & Fg 9T
e 7 ’

(2) gy WG BlgHT U B TR
FH P Bl

(3) TGH AAEH B JIHT TG F

(4) IOy F= B g8 o 7 o owm
yedw @Y g & ofiv 3@ RE
s o- .

gfwE A TeEd e SR
7&T &1 o T FiE

(1) e aEfTS THF T8 o

(2) ST @RS T §

(3) Iradre s fgest s/ 2 R o
T B

(4) 3ulEa § & @

T @9 AN B I gL AWNGE B

(O #g ¥ RrRM = =feT

(2) TR ST =T

(3) 9= ¥ ugH yBd =

(4) ST WIg-ARTA el =1Mey
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18.

19.

20.

Salim is very good in Music but is not
able to do well in Mathematics. As a
teacher of Mathematics, how will you
handle Salim ?

Tell him that Music does not have

a future

(1)

(2) Tell him to leave Music and study

Maths
3)
(4)

Call his parents and talk to them

Tell him that he can do well in
Mathematics and explain the

Mathematical concepts to him

A talented child can neot be identified
through observation because

(1) observation is not an objective

technique

(2) observation is a  subjective
technique

(3) observation is used by those who

are expert

(4) All of the above

While delivering a long lecture what a
teacher should do ?

(1) Should break in between
(2) Should speak continuously
(3) Should ask questions in between

(4) Should change own posture
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AU FE H TH TSl 6l & Weq d
T AR g8 wWeE § o dRET @ agr
el 31 oY IH e w37

(1) 7SRl & g7 T 7 2 9wy
BRI |

(2) I/ o e AW 3g HSR
UM YT =Itey

(3) 3Y [ 9ol ¥ @M & & He

(4) @ B 7 Iepse TR W gl
HifE 4 ARE T T HAAT Bl &

g@%%ﬁﬂ?wmwwﬁ g7

(1) gha A &1 a2
(2) gRe HHR B B # A @

(3) g% 9R9H FX i drga ®

(4) Y& b uRREid & @y g
& B A & |

ﬁaﬁﬁzﬁu‘mﬂ?@@ﬁﬁq&ﬁf%

(1) A gdem gomet
(2) g udar ol
(3) dHET YOIl

(4) LIS T UG
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o

A

A girl of your class is interested in
sports and wants to pursue her career
in sports. What will you suggest
her ?

(1) Girls have no future in sports

(2) She should put in hard work to

achieve her ambition:

(3) Ask her to be focused only in

academics
(4) Girls can not excel in sports as
' they are not physically strong
Which is not true about intelligence ?
(1) Intelligence is the ability to learn
(2) Intelligence is the ability to solve
problems

Intelligence is the ability to work
hard

(4) Intelligence is the ability to adapt

to novel situation

The most effective eVéluation method
is

(1) Annual examination method
N

(2) Examination with book method

(3) Semestral method

(4) Objective question paper method
P.T.O.
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frfoiaa 1 gafem i

A WES UGG g9 9rdd

B. & 4 (i) % T

C. d’ (i) 3I-5A A

D. oEE R@E (iv) J89e §ee
A B C D

(1 Gv)  Gi) @ (ii)

(2) Gv) G G @)

(3) (i) Gv) G @)

(4) (1) (i1) (1i1) (iv)

T ‘ATTH e B ARG &

S-S "9 AT 9
ATl gedieh
S & Uh HYE G (A o
EIRICIER|

feneft @1 Hgfs & AuPre a
TS HARAH B G(H

aEgetl F FH G STHN H AT S §
frepfta el @ 19 g8

(1)
(2)

(3)

(1) hewly s@en 9 @
(2) yd Frar s H &
(3) W Far sae 9 @
(4) el Fha o § @

Cat.-3/45
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25.

26.

Match the following :

A. Slide Projector (i) Visual mean
B. TV

C. Chart

(i1)Audio mean
(iii) Audio-visual mean

D. Voice Recorder (iv)Projective mean

A B C D
(1) Gv) (ii1) (i) (i1)
(2) Gv) (i1) (mi) W
(3) (i) Gv) (i1) (1)
{4 W (i1) (1ii) (iv)

The term ‘comprehensive evaluation'
means '

(1) Evaluation conducted at several

points of time

(2) Evaluation by a group of teachers

(3)

Several test for long duration

Evaluation of curricular & co-

(4)

curricular aspects of pupil growth

The
serially is developed in the child when

capacity to arrange objects

he is in

(1) Sensory motor stage

(2) Pre-operational stage
(3) Concrete operational stage

(4) Formal operational stage
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M WERRY H IRFaT B GeM &
ferq sreaTaes @ 78f HT ARy

(1) @-Fr & diEed &

(2) T F wERt B DA

(3) §g BN ©E @ s &

(4) GBI T ST AT

9 P T [BEl TE B AT ISR
HIT & O MY T B 7

(1) F % T 79 e
(2) I TN qaAd
(3) 0d IR B Y 3T A

(4) == T 39

gEl T WS Aige @l oM 8

(1) g9

(2) |9t w9 @ R

(3) TYE @l Qe

(4) @F F fed

wEl H s ARE &
69 o @b 8?7

(1) 3% 3= IFRear T S IHT

HO gwiRd

(2) 3% U ol 9 aRfEd suwt

(3) 9% FHhq@ GEENE T wE
AT HH '

(4) 3% A d@aE ¥ iR SuE

(11)
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A

For enhancing the ability of transfer
of learning the teacher should not

(1)
(2)
(3)

encourage self activity

encourage the habit of iobe learning
develop the habit of learning by
insight ' :

emphasise on generalization

When a child mispronounces a word,
what will you do ? A

(1) Tell - don’t say like this
(2) Tell the correct pronunciation
(3) Rebuke the

pronunciation

child for wrong

(4) Ignore

The basis of effective and successful
leadership is

(1) Appreciation

(2) The interest of entire group
(8) Service of group

(4) Self interest

How the virtue of good citizen can be
inculcate among students ?

(1) By lecturing them on good
citizenship v

(2) By familarising them with
national heroes

(3) By  assigning them  some

community service work
By familarising them with Indian
Constitution

€Y

Cat.-3/45
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AT - I (f2=El)/ LANGUAGE-I (HINDD)

31. = ® & T % yAigeEn o=l B a9
g

(1) werieel, AFRe, Eaye
(2) I, BroeEn, e
(3) HEHH, Pileral, T
(4) @iter, e, aIrmn

82. M= y=g™ & #& o g

T - AT
(1) Jede - g
(2) g - IR

(3) wF Jaied ATV - G
(4) UF a1 - e 9y

33, ‘MY @ g B
(1) AP & 999 (2) H3F

(3) © WEiH  (4) HFYI
34. 7y 4§ [ s g
(1) g7 (2) =
(3) argd (4) G
35. @I9-T1 &g Qg 787 7 7
(1) &1 2) 5
(3) STerE (4) ST

fdsr: srfarga wErsr B vewe RT 7E g
(797 Ho 86-39) % FUT GgH JrAT fawey
R gW T s & R, -l
FHreerel & o AR Ar@l-wel sl &
R JERT UF M &Y B B AR, 3
g% T A | Meifya B, waam B

Cat.-3/45

e I 399 A1 9 g4 ¥ AR I & He
H gl T 2 7 o am @ 6 gedEm
A B TG AT T el AR e d

TEE U TR A # gfed gEe A ugl ?

e{
:'r‘T

34 9 &l & 8, YU &9 # U e
®, ot & afiyr § Ia?gfw%—‘qﬁmea
WIS gepear (WY 9 H gEE ofm @A) | Al
daM, U & Al da a7 § gu w8
, I GHe, IEH U S @ g, AL T
mwa@vfﬁwmwwﬁaﬁﬁ@:
eq odfehd 2 JTar €, Uwad o e 2
Ay se ¢ B Qs 8w 9 A B
S e Te 3w 51 BW A & 4

aw

T g, 9 @ W A & TR 2, d e A
¥ g e wed g, 9v oy wieEaen &

9IS F ARl g3 gAY wEE Al H s
g O R H AW IR B T8 S ¢ 3R

)

dEa A REEr @2l g vl @ Ae H

gedl " AR R B

36. ‘gfiary’ =l fadH 2

(1) =T (2) |a

(3) oTefET gl (4) HIET EEw
37. "I # R 2

(1) g@i § e e

(2) @ g g& & B AU

(3) FRET e @

(4) 9gs @1 SR Bl
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38. ‘WY AT & AN { AE@F B oawd 2
(1) g9 oTomad e

(2) Sgd MuLmErEl e

(3) =g WA B

(4) 9B IeIed B

G Y AT H 9

1) & g0 D e

(2) 9& g & §H

(3) Iru Ul I

(4) SWET | § @5 &

FRsr : sreiffga TenT @ usHY 79 19 e
(797 Ho 40-44) % IV GEG T FAFY
By ga<r & omH & WY W% Jodl g,
NG % aF e =9 9 ae 9 @ e

39.

WX A W Aol el g e R

5 TR R FreeEl sEyd o6l e @
I FH HHER BT el & | R @ g
T difed # 98T HHa A T B R &
Hell Bl B AGF A Hid A T
SEH I PP HA | T YW@ o | TED B
T Ao B 8 B T gl % M oM W
§ W T eS| 9 7 T B I et
qfparEy 9 9y T AN 3 a9 qk J 8
W B IET B OTEE B AT oW G
gedEl -0 § WG B e 2, Ry @
WA % gl T8 EeESH WA 81 g 3
RGET I Al H AT AE o g, S e
ThR SHM & el GSAr AN o/ o T
qY & TN I qeH AT e @ 39 a9
% ™ ©d o
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A

U aea g B ogEm @ g aRer R w1t
T g e waEE & o ? oRy o 5w, 3
8 g % SRR el ey g
T T | QU A SEEaE B Wy g qen
I X TR 6 — CoRT @ g Fer el S
EZURS B RO | sl e 1

BT W Ew F gadeE T B e
e [ @ 7

(1) S &l seaaar oY

(2) SiE &l e 9€

(3) SilaM & HOIRAT W

(4) SWF &+ W

e e § fd fima A @ g 7
(1) Ry & wal @

(2) R & &l A

(3) Rriw & wif &

(4) RAW & sramed &t

(1) STy (2) ofmard

(8) ey (4) e .

e % AIAR el & @ g &
(1) Bl & wa | |
(2) Rilw % g&

(3) gu @l kg

(4) Y3 =Y

Rl yoy @1 oewEe S ®

(1) S § (2) e §
(38) W&l 4 (4) gaq ¥

40.

41.

42,

43.

44.
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46.

47.
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49,

50.

51.

52.
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el ey & AFER e o F Wel
Eralk - :
(1) AT, ST, SO, Sied
(2) Sied, AAEE, S, FRT
(3) U, SEre, Sledl, S
(4) SNed, A, s9@, e
TAN e § F% A el & ¢ 3EY
e ¥ 39 Wa oad 8| @ik a= A

(1) aaEs (2) H91ag=s
(3) wigargsd  (4) GRWE a=E
‘9T + T A 9 B

(1) e (2) A=<

(3) s1g= (4) SR

(1) o + & (2) S+ F + A
(3) 9+ + (4) F+F+
‘Je’ ¥ U B

(1) 9 2) T

(3) ¥ (4) g

Frr & § o @l gfte A g 9= ghe
(1) T (2) GUE

(3) BE@F (4) TGI
T o & 1l H qE e 8
(1) s, e, o

(2) foey, Rie, daX

(3) ¥gd, gEd, ey
(4) o, 3, SE

TEERY H O B
(1) TYEH (2) &8
(3) dgdie (4) iy

(14)

' 53.

54.

55.

56.

57.

58.

59.

60.

3 W = & [ Sk yeErn g4
(1) IRT (2) gfran
(3) et (4) grar

(1) 9Eeq( giTsaar B
(2) YREqY gferegst B
(3) UTEIR AT BT
(4) TR 7 B

Bi-ar aeg fqy aeer Fef e ?

(1) e 9org et & [ Sma |

(2) T SIET =@ Sl H 9ET o7 |
(3) U AR o7 & ik gH Hewi AL
(4) AT G H HROT AL & TF

FE B T e GE @i @ A §
(1) U@ = S

(2) d9H B

(3) BRYT TH o1 &l

(4) Ff=r @

P o & g ot ®

(U (2) 8

(3) = (4) U
‘Medre’ & Hia-faese 2

(1) ¥ + 3™ (2) U + 3cdied
(3) U + IR (4) W + A&

Ty g W fEm g

(1) IR (2) IS
(3) sAq (4) 99X
Frer ol o & @ o= &
(1) T (2) g
(3) wBld (4) g
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61.

62,

797 - 11 (3{35h) / LANGUAGE-TI (ENGLISH)

'He hardly works."

The underlined word means

(1) arduously (2) mostly

(3) scarcely (4) vstrenuously

Choose the correct word for the .

following phrase :

'Fear of foreigners'

63.

(1) Hydrophobia

(2) Xenophobia
(3) Homophobia

(4) Claustrophobia.

Give one word for ‘That wlﬁch can be

eaten.’
(1) edible (2) chewable
(3) palatable (4) .digestive

She had a headache;- '_otherwise she

(1) would copie

(2) would have'c_ome
came

(3)

will come

4

Cat.—-3/45

65.

66.

67.

68.

69.

Which sentence is incorrect ?
(1) 1 leﬁ:v‘without any one knowing.

(2) Ihope you will excuse niy leaving

early.

(3) As he was going-up the hill, he

saw an old temple.

(4) I dislike your behaving in this
way. : D

Complete the given sentence :

"The human body is like an engine. It

requires fuel to ......
(1) work  (2) keep it going

(3) runfrom  (4) keepit on action

He ............ not oppose me. -
(1) dare (2) dares
(3) did dare (4) was dare

: Choose the correct Article for the

blank :

'Give me ..... yellow teai)ot ;rvhich is
on the table.’ o

(1) a (2) an

(3) the

(4) Zero article
They told me that he +eveen in Jaipur.
(i) were

(3) will be

(2) was

(4) can be

P. T’ 0-

i
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73.

74.

75.
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His score is higher than

.........

(1) you (2) yours

(3) your (4) yourself

Choose the correct Pronoun for the
blank :

‘He is the only person ........ can help
you.'

(1) who (2) that

(3) he (4) which

Choose the correct Preposition for

the blank :

'‘One must abide one’s promise’,

(1) in (2) by

(3) for (4) to

I have been here ............... Monday
(1) from (2) since

(3) for (4) till

Change the Voice

sentence :

'We were let go.'

(1) They let us go.

(2) We were let to go.

(8) They were let us to go.

(4) Let us go.

Which word is wrongly spelt ?

(1) believe (2) relieve

(3) brief (4) decieve

Cat.-3/45
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Directions : Read the passage given below
and answer the questions that follow
(Q. Nos. 76 to 85) by selecting the most
appropriate option :

Conversation is indeed the most easily
teachable of all arts. All you need to do in
order to become a good conversationalist is
to find a subject that interests you and your
listeners. There are, for example, number
hobbies to tack But the
important thing is that you must talk about
the other fellow’s hobby rather than your

OWIl.

less about.

Therein lies the secret of your
popularity. Talk to your friends about the
things that interest them and you will make
your reputation for good fellowship,
charming wit and a brilliant mind. There is

nothing that pleases people more than your

" interest in their interest.

It is as important to know what
subject to avoid, as what subjects to select
for good conversation. If you don’t want to
be set down as a wet blanket or a bore, be
careful to avoid certain unpleasant topics.
Avoid talking about yourself, unless you are
asked to do so. People are interested in their
problems, not in yours. Sickness and death
bore everybody. The only one who willingly
listens to such talk is a doctor, but he gets
paid for it. To be a good conversationalist
you must know not only what to say but how
to say it. Be civil and wmodest. Don’t
Be
mentally quick and witty, but don’t hurt

overemphasize your own happiness.

others with your wit.
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Finally, try to avoid mannerism in your
conversation. Don’t bite your lips, or click
your tongue, or roll your eyes, or use your
hands excessively as you speak.
76. The secret of your popularity lies in
(1) cultivating good hobbies

(2) being able to converse about what
is of interest to the listener

(3) having a knowledge about a large
variety of hobbies

(4) talking about your hobby

77. The secret of becoming a good

conversationalist is
(1) talking about problems

(2) avoiding mannerism in
conversation

(3) using your wit

(4) knowing what to say and how to
say it

‘78. A doctor is the only one who readily
listens to conversation about sickness

because
(1) it is his job and he earns from that

(2) he is not interested in anything;s

else

(3) sickness .and death interest
everybody

(4) he is a kind person

Cat.-3/45
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79.

80.

81.

82.

- Powered by IBT

A

Courtesy  and politeness are
recommended through which word in
the passage ‘

(1) willingly
(2) civil
(3) overemphasize

(4) None of the above

To become a good conversationalist,

you need to

(1) find a good teacher

(2) find an intefesting subject

(3) practice the art of conversation

(4) converse about what you and the

listener find interesting

You should avoid talking about
yourself because

(1} you are a bore

(2) it  will make "you appear
unpleasant

(3) you don’t know how to choose the
subject of a good conversation

(4) people are not interested in you
or your problems

‘Mannerism’ in the passage means
(1) not hurting others with your wit
(2) having good manners

(3) gesture or way of speakingr typical

to a person

(4) using polite language
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Which word in the passage is the
opposite of ‘arrogant’ ?

(1) witty
(2) mentally quick
(8) conversationalist

(4) modest

What pleases people most is

(1) your reputation for  good
fellowship
(2) your clever use of language

(3) your taking interest in what is of

interest to them

(4) your brilliant mind

Which word in the passage means to

strongly stress that something is

particularly important ?
(1) overemphasize

(2) mentally

(8) excessively

(4) mannerism

...........

after ten years in the

business.

(1) wise

(2) wisest
(3) more wise

(4) wiser

(18)

D el
= FUWCITU Uy

B7.

88.

89.

LD .
LI = |

Choose the correct Adverd for the
blank :

"The sun ........ rises in the east’.

(1) sométimes

(2) often

(3) always

(4) rarely

The dumb ............ not speak

(1) has (2) does

(3) is (4) do

Choose the correct Phrase for the

blank :

'The craft in which I sailed rapidly

veee-een.. the open sea.’
(1) made out
(2) made up
(3) made for

(4) made off

......... he is satisfied with
his situation.

He is poor,

(1) yet (2) but

(3) so (4) while

Cat.-3/45
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H[T - IV/PART - IV
Hifew fEsm/PAYSICS

91, pE S G f A FE 2 (&

92.

(1) p & F ARG B FEAN TG THE
} aRafda & B

(2) p Rl @ o WeEH w9 S

(3) € HRE W A B

(4) p RN & oo WEEH Had T

B F{ie A aHE TRIgEN
% Jedo oidl &

qg # A A R W TR d R
¢, aRal ® WA QT e B
T EE B9 I W F A 91
i & Qe rEd qew ¢ d AE a9
¥, ol o @ & ok R P @ R
e &l

<)
&)

1 G,

l&

2) G

Y

@ ¢ <
t

d-t
0 oft3)
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91. The true statement regarding B decay

92.

is that

(1) in B decay mass number of the

nucleus changes by unity

(2)

the energy spectrum for f§ rays is

continuous

momentum is not conserved

(3)

(4) P rays have discontinuous energy
spectrum due to emission of

neutrino or antineutrino

Two metal plates separated by a
distance d forms a parallel plate
capacitor of capacitance C,. A metal
plate of thickness ¢ and same area is
now inserted cdmpletely between the
plates. The new capacitance of the
system will be

d+i
W a2

d
@ a(L)

@ ¢ 2
t

d-t
(4)c[d)

P.T.O.
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83. T F BEH omy & 9 —@Q %, 0% 93. Two particles with charge @ and —@

AT By Rl gemelt @ aeE o B
£ fr digf w fer W@ ¥ =R

k= Fﬁ@swﬁmﬂaﬁﬂq

4"1: g

(1) 0 @) k94
3y 2£9q 4) J3%Qe
o a

T AV, U FET A v, § fe-ar
gy dg 8 ?

(1) V,=2V,
(2) V,=42V,
(3) V,=+2 V,
(4) V,=2V,
UF JER W, e § 300 m B9 2
T 5 m/s FHOA@ G MY H W L, U

o1 PR ST B Ew gude

(1) 7.82 sec. (2) 6.25 sec.

(3) 7.33 sec. (4) 8.36 sec.

Cat.-3/45

are fixed at the vertices of an
equilateral triangle with sides of

length a. If k=—> . the work

dn €y

required to move a particle with
charge ¢ from other vertex to the

centre of line joining @ and —Q is

q

oleii N g
W o 2 *
a
3) 2kQq @) J3kQe
a (¢4

Which is the correct relation between
escape velocity V, and orbital velocity
V,?

(1) V,=2V,
2) V,=+2V,
(8) V,=42 V,
4) V, =2V,

A bag is dropped from a balloon that
is 300 m above ground and moving up
at a speed of 5 m/s. How long will the
bag take to reach the ground ?

(1) 7.82 sec. (2) 6.25 sec.

(3) 7.38 sec. (4) 8.36 sec.
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IR &9 FHea BT B g @ e gad
3¢ Rge o, @ g @ g e
i afafta 78 et

(1) 5@ agel ‘
(@) gt & ol @ Hrfg o
(3) gt a¥ & &t omEly
(4) g @ B

W A T W gE we |
Hafa & &, @ fr § @ Si-a
Frafafdy wd B 7

(1) T (2) M

(3) am (4) HAERI

Rt g oty ot e TR S @Rl §
3 1

(1) kT (2) - kT
3 1

3 BT (4) > RT

3 B & U wE, T oA el

BH x = 2 cos (50 ¢) BRI FR W

aEd T W B, S8l x Hiel ® a9 ¢
Ao § ¥ fei & R Faaie @

(1) 1 N/m
(8) 1500 N/m

o Aof et aRey w1 AR 40 T
SR 3Q ¥ 1 aRuy F AR O @

(1) cos"l(%) (2) cos‘l[-g-]

3) cos_l(%) (@) g

(2) 100 N/m
(4) 7500 N/m
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96.

97.

98.

99.

100.

A

If we assume that the entire polar ice
of the earth melts, then the following
quantity related with earth does not
change

(1) moment of inertia

(2) angular velocity of rotation of earth

(8) duration of day on earth
(4) inertia of earth

Which

remains

of the

unchanged when

following quantity
light
travels from one medium to another ?
(1) Wavelength (2) Amplitude

(3) Velocity (4) Frequency

The average kinetic energy of a gas

molecule is

3 1
1) —=kT 2) = kT
(1) 5 | (2) 5

3 o1
3) = RT 4) = RT
(3) 5 (4) 5

A 3 kg block attached to a spring

executes simple harmonic motion
according to x = 2 cos (50 ?), where x
is in meters and ¢ is in seconds. The
spring constant of the spring is
(1) 1 N/m (2) 100 N/m

(3) 1500 N/m (4) 7500 N/m

A series ac circuit has a resistance of
40 and reactance of 3Q. The power
factor of the circuit is

(1). cos‘l(g} C(®@) cos‘l(gj

3) cos"l(%] (4) Zero

P.T. O.
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& AR A Wl aw o w
Fem ¥ W ad, @@ F-ar 959 ey
3T B 7

(1) =FFeReIT 3 diar a7

(2) GRE AT G

(3) =TT 1A Gl AT

(4) GEEU 999 G T

RIS UTAIY] & TEXHE URey § i
H O N (5 my, TR o) ¥, e
T S (FETT m, @R e) URH
% O O R B % gw § gEar ¥
LRI i i R R e E (41J%
TSy
TN G EERE TN fae ¥ oaw .
(Ke”/G mgm,) @I fmmt ¥

(1) M2LOT2A2

(2) M°Lo0T10A°

(3) M2LYT??

(4) M‘2 L' T2 ¢?
sdfeeaar &1 SI a5 &
(1) FH

(2) #l

(3) B

(4) T=
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101,

102.

103.

Four identical copper cylinders are .
painted, if they are all heated to the
same temperature and left in vacuum,

which will cool most rapidly ?
(1) painted shiny white
(2) painted rough black
(8) painted shiny biack
(4) painted rough white

In Rutherford model of hydrogen
atom, the nucleus contains a proton
(mass m,, charge e) and an electron

(mass m,, charge e) moves around the

proton in a circle of radius R. Let K
denotes the coulomb force constant

) and G the wuniversal
4x EO

gravitational constant. Then the term
[Ke%/G m,m | has the dimensions

(1) M2LO0T2 A2

(2) M2LOT0 A0

(3) M2L07%¢?

(4) M2L'T??

The SI unit of radioactivity is ‘
(1) Becquerel

(2) Curie

(3) Rutherford

(4) Rontzen
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104. B ¥ yefifd 9 @t § @ de-ar e
39 avlees @ aRRgw § a9 & dY

A g IRe @ GE & 8

eI

D
-
— v
(1 A 2) B
3 C 4 D

105, T BT TAF Fredl g Tl 5.0

Am2Y, 3 gif & W gf 20 &F R
(1) 25 Am (2) 50 Am

(8) 2.5 Am (4) 5.0 Am

106. ﬁlﬂ,@maﬁxw%mﬁﬁﬂﬁmﬁ

Y, & fou Rl Soff & x & %A @
= o agiar o1 el A & RafEr @

A |

A B C D X
(1) 399 A (2) 9w B
(8) @ad C (4) B,CaD
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104.

105.

106.

A

Out of the four curves shown in the
given figure which one describe

correctly the variation of resistivity of

an intrinsic semiconductor with
temperature
A
Ny B
R C
2
& N
2 S
(27 D
—
Temperature
(1 A (2) B
3y C (4) D

The poles of a bar magnet of magnetic
moment 5.0 Am? are 20 cm apart. Its
pole strength is

(1) 25 Am (2) 50 Am

(3) 2.5 Am (4) 5.0 Am

The diagram shows a plot of potential
energy as a function of x for a particle
moving along the x axis. The points of

stable equilibrium are

Vi !
A B C b X
(1) Only A (2) Only B
(3) Only C (4) B,C&D
P.T.O.
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107.

108.

109.

110.

111,

R Rrsld & ogar g9 asd @
e e s & ofers Fremar

?
(1) CypaT (2) CypaT
(3) CVLU-TG 4) CVLCLTZ

10 keV & gFRMA §9 @ aoRw
0.1227A B | 99 I8 Y 0.55 A rei
@ fe @ fRaffa @ 2 @ waw
I FT 6 W A BN, T sin 0 F

(1) 0.1118
(3) 0.4464

(2) 0.2232
(4) 0.8928

g @M H 3T 330m/s B s W
20Hz ¥ 20KHz ¥ | @ 9m/ o9 o)

LRSS G B ST T
(1) 0.001m  (2) 0.0001m
(3) 10.0m (4) 100 m

TF B F G U6 o H9 NHSd A7 g9
%, & P g 49§ gomm o
WA B ARy T, FAE P BT G
am%qﬁﬁﬁwﬁ%ﬁ‘f

D) rg>ry (2) ry= 3

(3) rg>ry  (4) B FeT TS N THal

g a3

(1) s gk &

(2) YISl & 91§ HEOT aRe
(3) orgeed wghy # o &

(4) fompa ety wply Y ot B
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107.

108.

109.

110.

111,

= gl
I

According to Debye theory, the lattice
specific heat at low temperatures

varies according to
(1) CypaT (2) CyoaT®
(8) CypaT° (4) Cyp a T?

The wave length of 10 keV electron
beam is 0.1227A. When this beam is
diffracted by a slit of width 0.55 A, the
first maximum would occur at angle 6,
where sin 8 is

(1) 0.1116
(3) 0.4464

(2) 0.2232
(4) 0.8928

The velocity of sound in air is 330m/s.
The audible range is from 20Hz to
20KHz. Then the wavelength which

can be heard by normal human ear is

() 0.001m  (2) 0.000l m
(3) 10.0m (4) 100 m

A B particle and an o particle having
the same velocity are moving in
circular trajectories in a constant

magnetic field. If r; and r, denotes

respectively the radii of the
trajectories of § and « particles, then
D) rg>ry (2 ry= s

(3) ry>rz  (4) nothing can be said

Matter waves

(1) exhibit diffraction

(2) travel with speed of light
(3)
(4)

longitudinal in nature

electromagnetic in nature
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@%%wﬂaﬂﬁqﬁzﬁdmﬂm
T B o7 bl WE YE 9 AHIGIE 8

2 d?®
(4j ci_arz 3

(L d? &
3) dla®
g1 ¢ fafee wam & @@ @ ST @

IO el Ed @ d9M dige @

g oREd B AR ® TH-GE
Tl gEY G A ulend @ &Y
IR LY

(1) Brer Al gt
(2) Bpw1 deE Fel
(3) Bre =g emfafda @l

(4) Bt B et & A o
Hiq Y =A+B 9 &

(1) AND &R % fiT

(2) ORZR % [T

(3) NAND &KX & &0
(4) NORER 3 g

% sy (DC) At

(1) FiBE S B R St § awer

2

(2) R St @ i G § aead

g

(3)%3@%%%1‘%@?%
e 8

(4) T Fo H gy S § aE @
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A

For a gas consisting of molecules of
diameter d each, the mean free path

of a gas molecule is proportional to

(1) d? (2) d°?

3) dt (4) 47?2

A monochromatic light source used in
Young's double slit experiment is
replaced by another monochromatic
source of comparatively low fréquency »

but of same intensity, then the
(1
2y
(3)

ffinge width will decrease
fringe width will increase
width  will

“unchanged

fringe remain

(4) fringes will become less intense

The expression Y = A+ B is true for
(1) AND gate

(2) OR gate

(3) NAND gaté

(4) NOR gate

A de motor

(1)

converts mechanical energy into

electrical energy
converts electrical energy into

mechanical energy

(3) is based on the principle of
electromagnetic induction
(4) converts heat -energy into

electrical energy
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(26)

I T AT WY 4 el ¥ g
a2 o uftee @ wiftg Bar , 98 3

(1) e

(2) gao

(3) =Afrm

(4) Yot ARANE e

gl & fom g @ A

(1) fogaq e © gar @ omen sis &
(2) gl R fOyag Y @ oey s &
(3) yal Wy B

(4) fgeq Y v ogat o aEy B
A9 e & |G AT F TR GRee
fore sEpr B B 7

(1) o2

(2) e @

(3) U THIM Y& &

(4) S FY T

S B fadm Fem & eEn

(1) 1 S & i B § T2 amaen
S Ew

(2) P H PR T F AL gg@r
SEZIL

(3) H%ﬁaﬁawﬁfégfgﬂwém%

(4) ST O 99 B
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117.

118,

119.

'Light waves are of transverse nature'.
This fact is established through the
phenomenon of

(1) diffraction
(2) polarization
(3) interference

(4) total internal reflection

The value of 'g' for earth is

(1) more at equator than poles
(2) more at poles than equator
(3) Zero at poles

(4) same both at equator and poles

How does Young's modulus changes

with rise in temperature ?
(1) increases

(2) decreases

(3) remains same

(4) mnone of the above

According to the second law of

thermodynamics

(1) heat energy cannot be completely
converted into work
(2) work

converted into heat
(3) for all cyclic process we have

ae
T

— <0

cannot be completely

(4) All the above are true
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120. m TENN W OF TG x FH P WK
ﬁﬂﬁaﬂﬁ’lﬁﬁﬁﬁ%lﬁﬁﬁiﬁﬂm{
SEH HING FaT
(1) Sgar Sl & (2) Hea S 8
(3) A B (4) o B

121, TF WREEN BEE @ aReE 8 W@
Y sEE H S aiRe
W%laatama%wn‘ A A
TRt Sl
(1) & i B
2 %98
(3) % T B
(4) {9} TR

122. 4Rk gt @ sem e e gu s
A P T R A, @ gl P aaE
T AR A AR AR B G A
A s
(1)

(2) TR I

3) T A

(4) SIS A
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A
A body of mass m is moving parallel
to x-axis with constant velocity. Its
angular momentum with respect to
origin is

(1) increasing . (2) decreasing

(3) zero (4) constant

The wavelength of an ultraviolet

photon and the de-Broglie wavelength
of a non-relativistic electron are same.

Then, the energy of photon is

(1) greater than the kinetic energy of

the electron

(2) less than the kinetic energy of the

electron-

(3) equal to kinetic energy of the

electron

4

four times greater than the
kinetic energy of the electron

If the diameter of earth is doubled
maintaining its mass, then the weight
of the body as compared to initial
weight on the earth's surface will

become

(1) double

(2) four times
(3) one fourth |

(4) eight times ‘
P.T.O.




A

123.

124.

» . L : 1D
WWW.makemyexant.im——Fowered-by+5

T F AR FEEH 45§ gRmm @
3% FE W U x B Fol B w7 7 T
T FIAT B 7

(1 B
DI ¢ P
N B
(2)
< O > X
B
(3)
O >
B
(4)
: O X

UF RErEl 200g # UF A, S 20mis
H AT F MG HC R, B OB FA
g1 AR B9 9 G A @ @9 0.5

(1) 8N (2) 4N
(3) 2N (4) 16N
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‘Which graph
‘magnitude of the magnetic field along

1238.

124,

T
1
correctly gives the

the axis of a circular loop as a function
of the distance x from its centre ?

(1) B
< O g
B
(2)
0 ¥
/ B
(3)
< O > X
M B
(4)
< 0 ¢

A player catches a ball of 200g
moving with a speed of 20 m/s. If the
time taken to complete the catch is
0.5 sec, the force exerted on the
player's hand is

(1) 8N
(3) 2N

(2) 4N
(4) 16 N
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126, T ¥ 9N AW wig B TRY A d

Fefl-eft Be A § S

(1) T @ SEh G SiE wE #
g 7 aiftren fegeel ®

@ 32 @Y W Uiy W & IR 8

(3) ey ® 9% va@id &dl ©
(4) T TG IFT SERE B §

126, fret ¥ @ PG BUH T 7€ !
(1) Th a&] B RGO A YA Al
@ R & w2
(2) @ TEG F ARG @1 LI AbA
g uRFa & w8
(3) ARERE I H IRA ARECD A
3 ST B 8
@ g I F @ A TG D
AT B B
127. 9 Ru o B & Ruy ¥ Regelt ‘A |
B3 A g e §
Dt
30 50
A0 B
1) 100 2 5Q
(3) 10/30Q 4) 20
128. ¥ WX TF UEE A gAF €1 TR
afEt @ U ¢
1 8 ) 10
(3) 2 4) V2
Cat.-3/45

(29)

125.

126.

127.

128.

A

Metal pipes used to carry water some
times burst in winter because

(1) outside of the pipe contracts more

than the inside
(2) metal becomes brittle when cold
3

(4)

ice expands when it melts

water expands when it freezes

Which of the following statement is
not correct ?

(1) A body may have zero
instantaneous velocity but finite
acceleration

(2) A body 'may have zero
instantaneous acceleration but
finite velocity

(3) Magnitude of instantaneous

velocity is equal to instantaneous
speed
(4) Magnitude of average velocity is

equal to average speed

For the circuit shown in figure given

below the equivalent resistance
. between point 'A' and 'B' is
7Q
D VWV C
30 102 50

A 100 B
(1) 100 (2) 5Q
(3) 10/3Q 4) 2Q

Two notes are an 'octave' apart. The
ratio of their frequencies is
(1) 8 (2) 10
3) 2 @ V2
P.T. O.
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’ 8

N\
(1) va)«-RT

(2)

. 1|a :

(3)

J(V b)=RT
J(V -b)=RT

(4) -

<Q<

)(V +b0)=RT

et e REg &7 T@T LEIREE|
f&ga, 9T TN S B

(1) U% el a1 OF el

(2) %A &

(3) P S H

(4) F & 99 &1 7 & Jegel @

T A T B HEN GoIY UG GEATS Fh
% B & q9T A v = C,p/Cy &, O WEl
e

() A=yB  (2) A=YB
3 A=B (4) B=A'

T 9 R 10° Nm? g W g
1.2 Rg/m® B, & el 1 o mremw
I B (m/s )

(1) 5x10° (2) 3.6 x 10°

(3) 0.5 x 10° (4) 36 x 10?

T SRgEEE geY )T 8 B,
AN B T B w3 geee
fEydl = gH® oTAN® WM ¥ Im
gEHT 8

(1) B, ¥ stibs wd Rgda Ren o

(2) B, 8 %9 @& [@udd Rew o

(8) B, ¥ %9 ug gq fagw §

(4) B, § 3% wd g9 R
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Vander Waals equation of state is

=RT

(1) [P + _“,;J(V +b)
Ve S

,

() [P —%}(V ~b)=RT

(3) (P + %J(V ~b)=RT
%

(4) [P —%}(V +b)=RT

An electric dipole placed in a uniform
electric field experiences, in general
(1) a force and a torque

(2) a force only

(3) atorqgue only

(4) neither a force nor a torque

If A and B be the slopes of adiabatic

and isothermal curves respectively and
let y = Cp/Cy;, then the correct relation is
(1) A=7/B (2) A=YB
(3) A=B' 4) B=A'

The root mean square speed of the
molecules of a gas with density 1.2 Kg/m®
at a pressure of 10° N/m?is (in m/s)

(1) 5 x 10? (2) 3.6 x 10°
(3) 0.5x 10° (4) 36 x 10°

A magnetic field §0 is applied to a
diamagnetic substance. In the interior
the magnetic field produced by the
magnetic dipoles of the substance is

(1) greater than B, and in the
opposite direction

less than B, and in the opposite
direction

less than B, and in the same
direction

greater than B,

same direction

(2)
(3)

4) and in the
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134. Gﬁﬁm%fiﬁqaﬁﬁmww
0.72 eV 3| VEHIN @ AfEaT aLeH
ﬁ%aﬁﬁwm&ﬁmmm,w%
(1) 35000A  (2) 17240 A
(3) 25000 A (4) 51600 A

185. SEEE m O MWAY ¢ WM TH B
PR @ VAR 3 [AWa=i 3l
@G & ¥ aur R OE g 8 B
@m%lm%qﬁw‘rﬁ’r‘_waﬁﬁw%
(L 2’1’;‘; @) 2’:‘5

mV . »:2mV
(3) (4) A\

136. tﬁ:ﬁﬁﬁwgﬁt@wﬁa‘%‘L
2 gl =Y @ R W oS HRAr
o, @ o gA a8l S
1) AT
(2) ot

'(3)1%3%11%1?1
'(4)1;:1@25%&%1/4136“@

187. éﬁzﬁABeﬁT C'csfﬁvﬁqgmﬂ
12, 56?!?13%|Aaiﬁ B%qwq%ﬂr
Gulf
(1) 90° ’(2) 0°
(3) 180° o (4) 45°
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In Germanium, the energy gap is
about 0.72 eV. The maximum wave
length of light which the germanium

starts absorbing is about

(1) 35000 A (2) 17240 A
(3) 25000 A (4) 51600 A

A ‘particle of mass m and charge g is

accelerated from rest thrdugh a

: potentlal dlﬁ"erence of V volt and then

deflected by a magnetm field B thatis
The

‘reSultmg particle

perpendlcular to its velomty

radius of the

-trajectory is

@ [V g 2D
gB gV~
@ Y @ 2V
qB gB

The length of an organ pipe open at
both ends is L. If the pipe is closed at
one end, the fundamental fréquency
now '
(D
(2)
(3)
(4)

gets doubled
gets halved
remains unchanged

reduces to 1/4 of its earlier value

The magnitude of vectors X, B& C
are 12, 5 and 13 units réspectively.
The angle between.At> & B is

(1) 90° (2) 0°

(3) 180° (@) 45°
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8A YIgHR TR S 0.15T & Tl
8§ 30° A 0 W@ B, ARy wHH
TR 9T 9 8

(1) 1.6 Nm™ {2) 0.6 Nm™!
(8) szfﬁNm‘l (4) 0.16 Nm™

T fepseTe guar e e &
(1) 3.6x10°F  (2) 1.6x10¥g
(3) 746 J (4) 3.6x10°J

T O & gURK B TE FGeR
TR @ TEd ofye dwe £ oW Te
EiE Ui
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(2) U g6 9 |
(3) Y HEM & T A W |
(4) = FEN & SEmEd 9 s 8

I EEgIS WA 9RET & IER @8t

FT 8

(1) SRE % *E =W ‘n B
ORI BRI ¢

@) Rl o w A Bew L &

T kel ¥
(3) ®HT # TWEH W T 2 B
T B § '
(4) T § IR w9 saE R dgm
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Magnetic force per unit length on a
wire carrying current of 84, making
angle of 30° with magnetic field of
0.15T is

(1) 1.6Nm™?  (2) 0.6Nm*
(3) Of°ﬁmf1 (4) 0.16 Nm !

One kilowatt hour is equivalent to
(1) 36x10°d  (2) 1.6x107°g
(3) 746 J (4) 83.6x10°d

A capacitor is most likely to behave as
a short circuit when connected across

a Deniél cell
a dry cell

an ac source of low frequency

(1)
(2)
(3)
(4)

an ac source of high frequency

The t¢rue statement according to
Bohr's model of Hydrogen atom is

(1) the speed of electron in the orbit

is inversely proportional to 'n'
the radius of a permitted orbit is

(2)

proportional to —lé-
n

the energy of electron in the orbit

(3)

is proportional to r?
(4)

while revolving in orbit, electrons

do not experience electrostatic force

Newton's law of cooling can be
derived from

(1) Wien's law

(2) Kirchoff 's law

(3) Planck's law
(4) Stefan's law
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- Consider radio waves (r), visible light

(v), infra red light (i), x-rays (x) and
ultraviolet light (u). In order of
increasing frequency they are

(1) r,v,i,x,u {(2) r,i,v,u,x

3) i,r,v,u,x (4) 1,v, 1,4, x

A coil of resistance R and inductance
L is connected to a battery of E volt
emf. The final current flowing in the
coil is

(1) ER

(2) E/L

@)MR+W%#”

4) EAR*+1%)"

The correctly matched pair is

(1) Meissner Effect — Super
conductivity
(2) Brewster'slaw — Diffraction
(3) Malus's law — Scattering
(4) Stefan's law — Radiation
) pressure

The relation n, sin 6, = n, sin 0,
which applies as a ray of light strikes
an interface between two mediums, is
known as

(1) Gauss's Law (2) Snell's Law

(3) Cole's Law (4) Faraday's Law

A particle, starting from rest, moves
with a uniform acceleration and covers
x meters in the first 5 seconds. The
same particle will cover the following
distance in the next 5 seconds

(2) 2x meters
(4) 4x meters

P.T.O.

(1) x meter
(3) 3x meters
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A coil of copper wire is moved parallel
to a uniform magnetic field, the emf

induced in the coil will

(1) depend on the intensity of
magnetic field

(2) depend on the velocity of coil

(3) be zero

(4) be infinite

An oscillator is subjected to a

damping force that is proportional to

its velocity. A sinusoidal force is

applied to it. After a long time

(1) its amplitude is an increasing
functions of time

(2) its amplitude is a decreasing
function of time

(3) its amplitude is constant

(4) its amplitude is a decreasing
function of time only if initial

amplitude is large

The excess pressure for two soap
bubbles are in the ratio of 3 : 1. The
ratio of their volume is

(1) 1:3 (2) 1:9

(3) 1:27 (4) 1:81
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